Topic 5A/58 Review

223

224

225

226

227

228

229

Which of the following charges could 230
(NOTibe found on an object?
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A 3.2x10%Cc= ¢
(B 40x10"c) D
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4.96 x 105C Ble.
8.0x10C 50

How many elementary charges are found 231
on an object with a charge of 5.4 x 10°C?
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A B6x10M™ €  6.25x10%
B 8.6x107 @ 3.4x1077)
What is the charge in coulombs for‘an 232
object with an excess of 5.2x10% ‘
electrons? 5.2 xw0’e , b ‘*’I’;\” L =B.204100
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36 C of charge move through a wirein3 233
seconds. What is the current in the wire?
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A 24 ohm resistor is connected to 3 234

potentizl difference of 48 V. What is the
current in the circuit?
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A device operating at 20V draws a 235
current of 5 amperes. How much energy
is used in the circuit in 4 seconds?
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How much energy is required to move 4 236
pC through a potentia! dlfference of 6\/
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Find the electrostatic force between two

mlcrometers -
eleckion = S 7 L {07

A mml_o_“m C 2x10°N
@ UNY D 5.8x10%N
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An eiectrostattc force of zoﬁzacts oha
charge of 4C. What is the strength of the
electric field? T = %’— GG - <m)\\!/(~_
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I C  8ON/C
B 4N/C D 100N/C

A fleld with a strength of 420N/C actson a
charge of 4C. What is the force that acts
on the charge?
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B 105N D 2100N

For a fixed|gotential difference) if the
(’i‘éé’i's"fé:"_g' in a circuit is increased, the
c\(/Jrre"f.} T = /{3
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An electric appliance draws a current of 8
Amperes when connected to 120V. What
is the total power dissipated by the

appliance? oy PN
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A 960 W) C  7680W

B 15W D 96W

If the temperature in a wire increases the

resistance of the wire
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(A \Increases') C Remains the same
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The diameter of a wire is doubled, the
resistance of the wire will be
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237. 80Jof work are done to move 4 238  Anplastic toy is attracted to a negatively
coulombs of charge through two points charged rod. The charge on the toy must
in an electric field. What is the potential be
difference between the points? -A-—Negative

B. Positive
A__320v & O "C.Negativeor neutral
sofiefl (.E{_____}Q!) D 2V (' D. Positive or neutral )
W=0) W=V, "
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239.  Draw the electric field for each of the following scenarios (Show at least 4 lines for each particle)
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Condis ‘"" ey
240. An object with a charge of + 2Cis brought in contact W|th and object of -4C. What will be the

charge on each of the objects after they are separated?

241. Three wires of equal fength and cross-sectional area are coiled up to be used as a source of

resistance in a circuit. The wire options are afummum, copper and tungsten. o Whlch of these wires will
have the least resistance? AFRHO T2 1200 20 DRI R0
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242, Draw the basic graph shape for each of the following relationships
£ )-’

{Far a constant V)

243. Find the power dissipated by a simple circuit with a current of 3A and resistance of 20 chms?
{Show your work including equation, substitution and units)
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